h

-/

—

o ©
. — u
=
Qv
= =
=
O oo
O &
O -
—
n QO
O E
e— O
<
O W
n
= =X
| )
(11 ©
—_—

1-6


Administrator
文本框

Administrator
文本框
1-6


Side panel

Mounting angles

Front door

Capacity
TRV qQrY 47U 42U 37U 32U 27U 22U 18U
A:M8X12 16 16 16 16 16 16 16
B:M8 16 16 16 16 16 16 16
C:M6x12 60 60 60 60 40 40 40
D:IMEX12 cross| 16 16 16 16 16 16 16
E:M6E 48 48 48 48 32 32 32
F:MSX10 cross| 4 4 4 4 4 4 4
GiM4x8 cross | 18 18 18 18 18 18 18
H:@5 2 2 2 2 2 e 2
[:M10X70 4 4 4 4 4 4 4
MOUNTING ANGLE | ¢ 6 6 6 4 4 4
Top cover
Cable entry
Fan tray AMBX12
Frames
B:M8
C:iMEx1e

DIMEX12 cross
F:M6&6

FiMS5%x10 cross

G:M4Ax8 cross
H:@S
I:M10X7/0

2-6


Administrator
文本框
2-6


AMEX1e
BM8

8PCS
8PCS

AMBX1e  8PCS

GiM4x8 cross 8PCS  BMS 8PCS

F1M5><1OCWOSS 4PCS

DIMEX1? cross 16PCS

LMIOX 70 4PCS

CiMeX1e

E:M6

48PCS

48PCS

3-6


Administrator
文本框
3-6


N
Q
12PCS

1ePCS

Sadtadoadaadaadaat
]

WN WN‘WNQWvQWWSWNO

CMeX1e
EM6

Nz /i \i;lf
\ /A A/
O\ T T CE TE T T 0 T 6T T TT 0T T8 T T Th T T0 T L TT U0 0 TET0 T TF T 1T 66 1T LT Tr T cerrere—ere—r\
\ VAL AYAVAIAYAVAY A AY A1 A1 A1 A1 A1/ A1 Al MYV S0 A AT AV AT Al Al A7 Al A1 A AT A1 A S 1 A ST A1/ AT/AI B,
/,\ 7 /2 78 o\ 0
2\ [/ \
@ /=] ® \t‘f'/ \
B\ [—) 7 [=] -
B\ 7/ ¢ .
B\ \ .~ hh.‘ = \ = = &
2\ \ommomrmrmivsviaiay 2409282822~ \NAToeorivseusives *
4 \CIL VT T TV 8T = = =2 LTIV I = = = ©
SERESEAEN bttt \\g

GM4X8cross 10PCS

4-6


Administrator
文本框
4-6


Hi®5

5-6


Administrator
文本框
5-6


Front door

7
7

/&

__Back door

Side panel

Jeoe

JCo3

Jro4






